
Four  

cupcakes 

minus one 

cupcake 

given to 

Leo 

equals 

three 

cupcakes 

 Now Lily has only three 

cupcakes left. 

4 - 1 = 3 
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 Leo eats his cupcake! 

 One cupcake minus one cupcake 

equals zero cupcakes. 

1 - 1 = 0 

Leo is not hungry anymore.  Leo is 

not sad anymore. 
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Math Facts 

2 - 1 = 1 Two minus one equals

   one. 

6 - 2 = 4 Six minus two equals  

   four. 

1 - 1 = 0 One minus one equals 

   zero. 

4 - 1 = 3 Four minus one equals 

   three. 

3 - 3 = 0 Three minus three  

   equals zero. 
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Fill in the Blank 

Complete the equation with the number  

that makes it true. 

2 - 1 = _____ 

6 - 2 = _____ 

1 - 1 = _____ 

4 - 1 = _____ 

3 - 3 = _____  
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